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Introduction
In this contribution, we discuss one remaining issue on Rel-18 NR Sidelink Evolution, in particular on CPE determination for multiple TBs.
[bookmark: OLE_LINK1]Discussion
Following was agreed in RAN#114bis meeting,
	Agreement
Endorse the TP below for TS37.213
When a UE applies Type 1 channel access procedure to initiate a channel occupancy for multiple SL transmissions over one slot or multiple consecutive slots, the highest CAPC value among the associated CAPC values with the multiple SL transmissions is used for performing the Type 1 channel access procedure.


When UE performs multiple SL transmissions, by selecting the highest CAPC value associated with multiple SL transmissions, the UE can occupy a channel for a longer time so that the need for additional channel access procedure can be reduced, which is beneficial for transmissions of multiple SL transmissions. Besides determining CAPC level for Multiple SL transmissions, in the case of MCSt for Multiple TBs, the UE also needs to consider to select a L1 priority value from associated Multiple TBs to determine CPE duration to be applied to the MCSt. Regarding selecting L1 priority from Multiple TBs, 3 options can be considered.
· Option 1 : The highest L1 priority value associated with the multiple TBs.
· Option 2 : The lowest L1 priority value associated with the multiple TBs.
· Option 3 : The L1 priority value corresponds to first slot associated with the multiple TBs.
In our understanding, a higher L1 priority value corresponds to a shorter CPE duration and a lower L1 priority value corresponds to a longer CPE duration. In the option 1 and option 3, there is a risk that a TB in the MCSt with a low priority value may be blocked by a transmission with a high priority value from another UE. For example, in Figure 1, a UE#1 performs MCSt carrying 2 TBs in slot#1 and slot#2, while a UE#2 performs a transmission in slot#1. As shown in the Figure 1, the L1 priority values of first TB and second TB in slot#1 and slot #2 from UE#1 are 7 and 1, respectively. The L1 priority value of the TB in slot#1 from UE#2 are 3. When the UE#1 and UE#2 initiate COT from slot#1 and determine CPE duration based on L1 priority, if the UE#1 selects L1 priority value according to option 1 or option 3, the UE#1’s transmission will be blocked by UE#2’s transmission. The UE#1 determine CPE duration associated with L1 priority value 7 according to option1 or option 3. The UE#2 determine CPE duration associated with L1 priority value 3. The UE#2 may have longer CPE duration than the UE#1. In this case, UE#1’s transmission with L1 priority value 1 in slot#2 would be blocked by UE#2’s transmission with L1 priority value 3.
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Figure 1 : Blocking issue for MCSt of Multiple TBs.
To protect MCSt for Multiple TBs including lower L1 priority value, option 2 is preferred for MCSt of Multiple TBs. For example, in Figure 1, if the UE#1 determines the CPE duration based on L1 priority value 1 according to option 2, the UE#1’s transmission will not be blocked by the UE#2’s transmission.
Therefore, in the case of MCSt for Multiple TBs, it is preferred to determine CPE duration based on the lowest L1 priority value associated with Multiple TBs. This helps to protect transmission with low L1 priority value in MCSt.
Proposal 1: Adopt the enclosed draft CR.

Conclusion
In this contribution, we presented our views on one remaining issue on Rel-18 NR Sidelink Evolution, in particular CPE determination for multiple TBs, and made the following proposals:
Proposal 1: Adopt the enclosed draft CR.
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